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1. NK
0 K0

H2(X1 +
g ,v=0) ( H2–He(1:3) 0,5 

40 )

0,05 ± 0,033, 
(0,15 ± 0,02):2,42, 
0,95 ± 0,031, 
(0,85 ± 0,02):2,40, 
NK

0K0



2. C K´ K´
H2(d3 u, v=0) H2(I1 g, v=0) H2–He(1:3) 0,5 40

0,02 ± 0,010,005 ± 0,0036, 

0,05 ± 0,020,011 ± 0,0045, 

(0,006± 0,003):2,45, 

0,08 ± 0,020,054 ± 0,0154, 

(0,011 ± 0,004):2,44, 

0,22 ± 0,040,08 ± 0,023, 

(0,078± 0,014):2,43, 

0,34 ± 0,050,35 ± 0,042, 

(0,094 ± 0,012):2,42, 

0,29 ± 0,050,5 ± 0,051, 

(0,44± 0,04):2,41, 
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gCK ,́ d3
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3. 
CK’(exp) CK’(theor) K´

H2(d3
u, v=0). (w(s)=0,84, w(d)=0,14, w(g)=0,027, =1,78, 

=0,61), 2=3,42, P>0,8

0.110,0040,0030,0056, 

00,0110,0050,0115, 

1(0,009):2,4(0,003):2,4(0,006):2,45, 

0,750,04110,0150,0544, 

0(0,011):2,4(0,004):2,4(0,011):2,44, 

0,250,090,020,083, 

0(0,078):2,4(0,014):2,4(0,078):2,43, 

0,250,330,040,352, 

0,34(0,101):2,4(0,012):2,4(0,094):2,42, 

0,160,520,050,501, 

0,56(0,47):2,4(0,04):2,4(0,44):2,41, 
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4. 
CK’(exp) CK’(theor) K´
H2(I1

g v=0). ( w(p)=0,80, w(d)=0,14, w(g)=0,06, =1,3, =0,86). 2=3,5 )

00,020,010,026, 

00,050,020,055, 

0,250,070,020,084, 

0,060,230,040,223, 

0,640,380,050,342, 

2,560,210,050,291, 
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H2(d3 u, I1 g). 
. ,

H2(d3 u, K ) H2(I1 g, ) 
. p . 

p- H 2(2 u). H2(d3 u)

, . s-, d-, g . H2(I1 g) 
, p-, f-, h .

. H2(d3 u) - s (w(s)=0,84± 0,04), 

l. H2(I1 g,) - p (w(p)=0,80± 0,05). 
, 

d3 u. H2(d3 u) .

H2(d3 u, ) , 
d3 u 

. H2(I1 g) 
.


